[lOKYMEHT NOANMUCaH NpOCTO# 3NeKTPOHHOM NOANMUCHIO
MHbopmauus o Bragenbue:
®WO: basHkuHa EneHa MeHHaabeBHa




1. OHEHOYHBIE CPEACTBA JJIAA TEKYIIEI'O KOHTPOJISA YCIHEBAEMOCTHU

1.1 BOIIPOCHI JlV/IA YCTHOI O OITPOCA

No Pazgen (Tema)
Bonpocsr
/i JIACIIATLTUHBI
1 2 3
1.Beoausiii kype (Noun. Pronouns. Adjectives. Adverbs).
1 Moayinb 1.
BBoambIit Kypc 2. Simple Tenses (present, past, future), active, passive.
Moy 5 3.Tunbl 00pazoBaHMs YacTell peyun.
2 | Tunsl . . .
4.Continuous Tenses (present, past, future), active, passive.
O6pazoBanus
Moy 3. 5. CnoBooOpa3oBaHue.
3 | Hayka "
6. Perfect Tenses (present, past, future).
TEXHOJIOTHSI
7. IlopsiIOK CJIOB B MPEJUIOKEHUN.
4 Moynb 4.
Texuuka B 21 Bexe | 8. Hemuunsie hopmsl rnaroa- Infinitive.
Monyinb 5. 9. IlpeduKchl CyIeCTBUTENBHBIX, IPUIaraTeIbHBIX.
5 ['ubkue
npousBojacTBeHnbie | 10. Hemmunsie hopmer rmaroma — Gerund.
CUCTEMBbI
11. Cydhdukcsl cymmecTBUTEIBHBIX, IPUIAraTeIIbHBIX.
6 Monyns 6.
KomrbroTepsr 12. Henmunsie hopmbl riarona — Participle I, 11.
Moayinb 7.

7 | KOHCTpYKIMOHHBIE 13. Complex Object.

MaTepHalIbl
Monynb 8.

g Texuomorus 14. Complex Subject.
KOHCTPYKITHOHHBIX
MaTepHalioB
Monyns 9.

15. Grammar Revision.
9 | CoBpemeHHbBIE

MaTcpHraJibl

Monyns 10. | 16. Subjunctive Mood.
10 .

Food science
1 Motynb 11. | 17. Grammar Revision.

.Food processing




18. Grammar Revision.
Moayns 12. Food
12
stuffs
13 Monyne 13 19. Complex sentences.
Food industry
20. Grammar Revision.
y Moy 14 0. Grammar Revisio
Food and health

HlIxana ouenusanusn: 100 GaminHas.

Kpumepuu oyenusanus (nusxcecieoyowue Kpumepuu OYeHKU AGIAIOMCHA NPUMEPHBIMU U
MO2Yym KOPPEeKmuposamvcsl) .

85-100 6amnoB (MM OIEHKAa «OTJMYHO») BBICTABISIETCS OOYyYaroUmIeMycCsi, €CIH OH
JEMOHCTPUPYET TIyOOKOe 3HAHHWE COJCp)KaHWs BOIPOCA; JAeT TOYHBIC OIpPEICNICHHS] OCHOBHBIX
MOHATHH; apTYMEHTUPOBAHHO W JIOTUYECKU CTPOWHO HM3JIaraeT y4eOHBIH MaTepualr;, WILTIOCTPUPYET
CBOW OTBET AaKTyalbHBIMH TpUMepaMd (THIIOBBIMH W HECTaHIAPTHBIMH), B TOM YHCIE
CaMOCTOSITEIIEHO HAaIEHHBIMH; HE HYXIAeTCsl B YTOUHSIOMMX H (FJTH) JOTIOJHUTEIBHBIX BOIIPOCAX
MIPETIO/1aBaTEIIs.

70-84 6ansioB (MM OIIEHKA «XOPOIIO») BBICTABISETCS O0y4aromEeMycs, €CIId OH BIIaJeeT
COZICp’)KaHMEM BOITpOCa, HO JOMYCKaeT HEKOTOPhIE HEMOYeTHl MpU OTBETE; JIOIYCKAeT
HE3HAYMTENbHBIE  HETOYHOCTH TIPH  OINpPEICICHUH OCHOBHBIX  TOHSTHH; HEJOCTaTOYHO
apryMEHTHPOBAHHO M (WJIN) JJOTHYECKU CTPOMHO M3JIaraeT yueOHBIH MaTepuall; WUTIOCTPUPYET CBOU
OTBET TUIOBBIMH ITPUMEPaMH.

50-69 6an10B (MU OIIEHKA «YI0BJIETBOPHUTEIbHO0)») BBICTABISICTCS OO0y4aIOMIEMYCsl, €CIIH
OH OCBOWJI OCHOBHBIC IIOJIOXKCHHUSI KOHTPOJMPYEMOW TEMBI, HO HEIOCTaTOYHO YETKO JaeT
OTIpeJieJICHNe OCHOBHBIX MOHATHH M Je()UHHULNI; 3aTPYAHSACTCSA MPU OTBETaX Ha JIOTIOJHHUTEIHHBIC
BOIIPOCHI; IPUBOJUT HEAOCTATOYHOE KOJIMYECTBO MPUMEPOB ISl WIUTIOCTPUPOBAHUS CBOETO OTBETA;
HYXJIAeTCSl B YTOUHSIOMINX U (WJIN) JOTIOJHUTEIBHBIX BOTIPOCAX MPETIO1aBaTEIs.

MeHee 50 6a/10B (WM OICHKA «HEYI0BJETBOPUTEIBLHO») BBICTABIICTCS 00ydaromemMycs,
€cIIM OH HE BJAJIEET COJIep)KaHUEM BOIPOCA WM JIOMYCKaeT IpyOble OIMMOKHU; 3aTpyIHSETCS aTh
OCHOBHBIE OTIPEJICTICHNUS; HE MOKET IPUBECTH WJIM TIPUBOMUT HETIPABUIBHBIE IPUMEPHI; HE OTBEYAET
Ha YTOYHSIOIMIKE U (WJIN) TONOJHUTEIBHBIE BOTIPOCH! PENOAaBaTeNs Ul JIOITYCKAeT IIPH OTBETE Ha
HUX IpyOble OIINOKH.

1.2 BOIIPOCHBI /UIA COBECE/IOBAHHA

Ne Paznen (tema)
Bompocsr
/a JUCHUILINHBI
1 2 3
1.How large is your family? 2. Do you have any special duties?
3. Who do you most take after, your mother or your father?
1 Moayns 1. | 4. Who is the head of your family?
BBoHbIit Kype 5. Do you have close relations with any of your grandparents or other
relatives?




1. How long will your course at the University last?
2. What department do you study at?

Monyne 2. ) ) _ o
O6paszosasms 3. Why did you decide to enter this University?
4. When will you graduate from the University?
1. Why is science so important in the modern world?
2. What natural resources do you know? Are you aware of the ways
Motyib 3. | to save them?
Hayka u | 3. Why is it essential to study the Universe?
TEXHOJIOTHUS 4. What benefits can the humanity gain from scientific studies?
5. Why is it important to study the natural world?
1. What way do modern technologies make our life easier and
better? What role has scientific and technological development
played in man’s life?
Moty 4. | 2. What proves that science and technology are closely related

Texuunka B 21 Beke

today?
3. What does the term technology refer to?
4. When did science and technology begin to work together?

5. How can the history of mankind be described?

1. Is Flexible Manufacturing System (FMS) famous for being both a

Motynb 5. manufacturing technology and a philosophy?
I'nOkue 2. When was the FMS idea proposed in England?
npousBojacTBeHHbie | 3. What are the general objectives of FMS?
CHCTEMBI 4. What are the main components of FMS?
5.Give the definition of a flexible manufacturing system.
1.What units does any computer have?
2.What joins the main parts of the computer?
Monynb 6. ;
KoMreroTepet 3.HOW is the memory also called?
4.Which output devices do you know?
5.How often do you use your computer?
1.Name the main engineering materials.
Moaynb 7. | 2.What technologies made it possible to produce new materials.
Koucrpykronnsie | 3.What are the most important metal properties?
MaTepHabl 4.Express your ideas concerned the transport of future.
5.Does the modern transport influence our environment?
1.What are the main metalworking forming processes?
Monyns 8. .
T exHOTOMA 2.Can yc?u name the sheet. metal forming processes?
KOHCTPYKIHOHHEIX 3.What is usually poured mFo amold?
MATEpUATOB 4.How must the dies be designed?
5.Continue the sentence ““ Metal components can be formed by ...... ”?
1.What does food science study?.
Moy 10 2.which factors affect properties of food?

Food science

3.What is food safety?
4.What are the foodborne illnesses?
5.What are the key principles of food hygiene?




1.What is the food processing?
2.What is the purpose of sterilization process?

10 llz/ézléygrocessingll. 3.What are freezing process principles
' 4.What is the significance of food preservation in science?
5.What techniques are the most suitable for fish preservation?.
1.What kinds of raw materials are used in cheese manufacturing?
2.Name the qualitiea of ready product (cheese).
1 Moayns 12. 3.Speak about the classification of cheese
Food stuffs 4.Speak about the conditions of keeping liquid egg products and say hw

they are produced?
5.Determine the main requirements for producing sausage

1. why is milk considered to be healing?

Which factors influence the composition of milk?

What is casing?

What methods of meat preparing do you know??

What can you say about the importance of fish production in
human life?

Monyns 13
12 | .Food industry

a s own

IlIkana ouenueanua: 100 OannnHas.

Kpumepuu ouenueanun (nudcecieoyrowue Kpumepuu OYeHKu SGIAIOMCA NPUMEPHbIMU U
MO2Yym KOPPEeKmupo8amvcsi) .

85-100 OannoB (WM OIEHKA «OTJIUYHO») BBICTABIACTCS OOydJaloOmEeMycCs, €CIu OH
MIPUHUMAET aKTUBHOE yJacThe B Oecefie 1Mo OOJBIIMHCTBY 0OCYKIA€MBIX BOTPOCOB (B TOM YHCIE
CaMbIX CJIOXKHBIX); JIEMOHCTPUPYET CGHOPMHUPOBAHHYIO CIIOCOOHOCTh K JAHATIOTHYECKOMY
MBIIUICHUIO, TIPOSIBIISIET YBOKEHUE U MHTEPEC K MHBIM MHEHHUSIM; BJIQJICET TIIyOOKHUMH (B TOM YHCIIE
JOTIOJTHUTEIBHBIMKI) ~ 3HAHUSAMH TI0  CYHIECTBY  OOCYXJAae€MBIX  BOIIPOCOB, OPAaTOPCKUMHU
CIOCOOHOCTSIMM W TIpaBWJIAMH BEJCHHS TIOJICMUKH; CTPOUT JIOTHYHBIC, apryMEHTHUPOBAHHBIE,
TOYHBIC W JIAKOHWYHBIC BBICKA3bIBAHMS, COIPOBOXKIAEMbIC SPKUMH IPHUMEPAMH; JIETKO H
3aWHTEPECOBAHHO OTKIIMKACTCS Ha HEOXKHIAHHBIE PAKyPChl Oece/Ibl; He HY)KIAeTCsl B yTOUHSIONINX U
(WITM) IOTIOJTHUTEIIBHBIX BOIIPOCAX MPEo1aBaTels.

70-84 6am10B (WM OIICHKA «XOPOIII0») BBICTABISICTCSI 00YyUYaIOMIEeMYCsl, €CJIM OH TPUHUMAET
ydactue B o0cyxaeHuu He MmeHee 50% MUCKYCCHOHHBIX BOIIPOCOB; MPOSBIISET YBAXKEHUE U UHTEPEC
K WHBIM MHEHHSM, JIOKa3aTeIbHO M KOPPEKTHO 3alUIAeT CBOEC MHEHHUE, BIAJICCT XOPOIIUMHU
3HAHUSIMH BOTIPOCOB, B OOCYXJICHUM KOTOPHIX IPUHUMAET Y4YacCTHUE;, YMEET HE CTOJIBKO BECTH
MOJIEMHKY, CKOJIBKO y4acTBOBaTh B HEH; CTPOUT JIOTHMYHBIC, apTyMEHTUPOBAHHBIC BBICKA3BIBAHMUS,
COIIPOBOKJIAEMBIC TOIXOSAIIMMU IPUMEPAaMU; HE BCETJa OTKIMKACTCS HA HEOXKHMIIAHHBIC PaKypChl
Oece/ibl; HE HY)KJIAeTCs B YTOUHSIONIMX M (MJIK) JOMOJHUTEIBHBIX BOIPOCAX MPEIOo1aBaTells.

50-69 6ans0B (MK OLIEHKA «YTOBJETBOPUTEIBLHO») BBHICTABISETCS O00yYarOMEMYCs, €CIIU
OH TMPUHUMAET y4dacTHe B Oecelle 1Mo OJHOMY-IABYM Hambosee MPOCThIM OOCYKIaeMBbIM BOIIpOCaM;
KOPPEKTHO BBICIYIINBAET UHbIE MHEHHSI; HEYBEPEHHO OPUEHTUPYETCS B COAECPKAHUH 00CYKIaeMbIX
BOMIPOCOB, TMOpPOIl JOMycKas OIIMOKW; B TMOJIEMHUKE MPEANOYUTACT 3aHUMATh MO3UIHIO
3aMHTEPECOBAHHOTO CIyIIAaTeNs; CTPOUT KpaTKHe, HO B II€JIOM JIOTHYHBIE BBICKA3bIBAHUS,
COMPOBOXKIaeMble Hauboliee OYEBUAHBIMH MpUMEpPaMU; TepsSeTcs TMpPU  BOSHUKHOBEHHH
HEOKHUJAHHBIX paKypcoB Oecelbl M B O3TOM clydyae HYXJAeTCs B YTOYHSIOMMX U (WIN)
JIOTIOTHUTEIHHBIX BOMPOCAX MPENOo 1aBaTesl.

MeHee 50 6a/J10B (MK OIIEHKA «HEY/I0BJIETBOPUTEIBHO») BBHICTABISETCS 00yJaromemycs,
€CIIi OH HEe BJAJIeeT COJEpPKaHHEeM OOCYXKJaeMbIX BOMPOCOB HIIM JIOMYCKaeT TIpyOble OIIHUOKU;
MacCMBeH B OOMEHe MHEHHSIMH WM BOOOIIEe HE YYacTBYeT B JUCKYCCUH; 3aTpYAHSETCS B
MOCTPOCHUH MOHOJIOTUYECKOTO BBICKA3bIBaHUS M (WJIM) JOMYCKAaeT OMIMOOYHBIE BBICKA3bIBAHUS;
MTOCTOSIHHO HYXKJIA€TCsl B YTOUHSIIOIIMX U (WUJIH) JOTIOJTHUTEIBHBIX BOIIPOCAX MPEMO1aBaTesl.




1.3 BOITPOCHI 1 3A/TAHHA B TECTOBOH ®OPME

Monayas 1.

1. Replace with the pronouns.
1. My uncle is a carpenter.
a) She b) I ¢) He d) His
2. His daughter is a musician.
a) She b) He c¢) Hers d) It
3. Their aunt is a manager.
a) He b) She c) They d) Her
4. Our parents are physicians.
a) He b) We c) They d) Our
5. My grandfather and grandmother are pensioners.
a) My b) They c) She d) He

2. Choose the suitable forms of the verbs.
1. His uncle (to be) a fitter.

a) are b) is ¢) amd) to be

2. My aunt (to have) those books.
a) have b) to have c) has

3. I (to be) his cousin.

a) is b) are c) amd) to be

4. Their friends (to be) students.
a) is b) are c) to be d) am

5. His son (to have) this article.
a) has b) have c) to have

3. Choose the correct forms of the plural.
1. Their friend is a dentist.

a) Their friends were dentists.

b) Their friends are dentists.

c) Their friend was a dentist.

d) Their friends is dentists.

4. Choose the suitable pronouns.
1. My friends have ... discs.

a) this b) theirs c) these d) me

2. ... were students.

a) We b) I ¢) This d) That

3. This is my notebook, and that is ... .
a) hers b) your c) you d) me

4. ... grandparents are pensioners.
a) Me b) Mine c) My d) Hers

5. ... are my pencils.

a) That b) These c) This d) We



5. Choose the suitable translation of the sentences.

1. OH TakoM K¢ CYaCTIMBBINA, KaK U OHA.

a) He is so happy as she was.

b) He was so happy as she was.

c) He is as happy as she is.

d) He were so happy as she was.

2. Babymike cienyeTr OTIOXHYTh B Cajy.

a) The grandmother should rest in the garden.

b) The grandmother can rest in the garden.

c) The grandmother was able to rest in the garden.

d) The grandmother may rest in the garden.

3. MHe pa3pemnuig BOUTH B KOMHATY.

a) | am allowed to come into the room.

b) I was allowed to come into the room.

c) I am able to come into the room.

d) I are allowed to come into the room.

4. DTOT CTYAEHT JOJKEH OTBETUTH Ha BOIPOCHI U3 ATOTO YIIPAKHEHHUS.
a) This student must answer the questions from this exercise.
b) This student can answer the questions from this exercise.
c) This student is allowed to answer the questions from this exercise.
d) This student may answer the questions from this exercise.
5. EMy pa3pemii noCMOTPETh TEIEBU30P B TOM KOMHATE.
a) He is allowed to watch TV in that room.

b) He was allowed to watch TV in that room.

c¢) He was allowed to watch TV in this room.

d) He were allowed to watch TV in this room.

Monayas 2.

1. Choose the proper words and fill in the blanks.

1. When we were discussing educational systems of different countries we
used ... .

A. skills B. scheme C. the ways D. types

2. It is not difficult to use gooD. ... when you are eating.

A. manners B. children C. schemes D. speed

3. People ... knowledge about the world.

A. pass B. gain C. expect D. support

4. To transmit A. common cultural heritage is ... of general education.
A. made B. received C. the aim D. the design

5. The children are taught skills they will use ... their life.

A. above B. throughout C. though D. thought

2. Fill in the blanks with the proper grammatical forms.
1. He ... this museum the whole morning yesterday.
A. were visiting C. was visiting

B. was being visited D. being visited

2. They ... A. composition all morning yesterday.
A. are being written C. was writing

B. is writing D. were writing

3. He ... this text very well.

A. was translating C. translate

B. is translated D. is being translated

4. This material ... in the article.



A. is being used C. uses

B. use D. were being used

5. At present she ... here.

A. were studying C. is studying
B. study D. is being studied

3. The text contains different mistakes: 2 — in spelling, 5 — in grammar.
Correct the mistakes and rewrite the text.

In most western nations, advanced general education is often called liberal
education, which aim at broad mentall development, and teach learners
to study a problem from diferent sides. The branches of learning that help
in these development are called liberal arts. This branches includes the humanities,
mathematics, and the biological, physical, and social sciences.

4. Answer these multiple-choice questions about science and technology.
1. What stages is formal education in the USA divided into?
A general and special education

B elementary, special, adult education

C elementary, secondary, higher education

2. What stages is formal education in the UK divided into?
A primary, secondary, and further education

B secondary and vocational education

C state and private schools

3. At what age do pupils take GCSE examination in the UK?
A between the ages of 5 and 16

B at the age of 15 or 16

C at the age of 11

4. At what age do pupils take GCE examination in the UK?
A beyond the age of 16

B between the ages of 14 and 15

C beyond the age of 10

5. What kinds of schools provide secondary education in the USA?
A higher schools

B junior and senior schools

C different kinds of colleges

Monayas 3.

1. Choose the proper words and fill in the blanks.

1. Scientists solve a ... of complicated mathematical problems.
A. origin B. variety C. universe D. cell

2. The researchers always try to ... the facts.

A. refer B. measure C. satisfy D. unify

3. When people speak of technology they usually mean ... technology.
A. medical B. nuclear C. educational D. industrial

4. ... make our life and work easier.

A. Principles B. Laws C. Tools D. Facts

5. People had to get food, clothes and ... .

A. shelter B. machines C. cars D. technologies

2. Fill in the blanks with the proper grammatical forms.
1. The experiments ... by him.
A. has been done C. have been done



B. were been done D. have done

2. The scientists ... a wide variety of subjects.
A. were studied C. has studied

B. have studied D. are studied

3. The cell structure of the plants ... by the scientists.
A. has been examined C. have examined

B. has examined D. had examined

4. ... they already solved the problem?

A. Are B. Have C. Do D. Is

5. ... he made observations?

A. Have B. Is C. Does D. Has

3. The text contains different mistakes: 2 — in spelling, 5 — in grammar. Correct
the mistakes and rewrite the text.

Computers has changed the way people work. Many tasks which was performed

by a large number of people is done now by computers. They provide

scintists with understanding of nature. Computers produces new information

so quikly that they have change people’s views on the world.

4. Answer these multiple-choice questions about science and technology.
1. What does the word ‘science’ mean?

A. broad field

B. Latin word

C. knowledge

2. What do scientists do?

A. develop theories

B. only collect facts

C. only make observations

3. When does a theory become a part of scientific knowledge?
A. after experiments

B. after tests

C. after it has been tested experimentally and proved to be true
4. What do scientific theories consist of?

A. different technologies

B. observations and facts

C. general principles and laws

5. What groups can scientific study be divided into?
A. social and technical sciences

B. natural and technical sciences

C. natural, social, and technical sciences

Monyas 4.

1. Choose the proper words and fill in the blanks.

1. ... is the creative application of scientific principles to particular branch.
A. engineering C. aerospace

B. civil engineering D. petroleum

2. One who practices engineering is called ... .

A. a charted engineer C. an engineer

B. a professional engineer D. a respected engineer

3. Engineering encompasses ... branches.

A. two C. four



B. three D. four main and other branches

4. New fields are combined together with the traditional ones ... .
A. to form new branches C. to use new concepts

B. to advance existing D. to overlap

5. In each new field, considerable ... exists.

A. overlap C. breakthrough

B. gap D. cover

2. Fill in the blanks with the proper grammatical forms.
1. It is a good question ... .

A. to be discussed C. was discussed

B. discuss D. discusses

2. It must ... a very serious problem.

A. to be B. be C. been D. to being

3. We will continue ... the tools.

A. to test B. test C. to be test D. have tested
4. We need ... productivity.

A. increase C. are increasing

B. to increase D. have increased

5. They have ... mechanical systems.

A. maintain C. to be maintained

B. to maintain D. maintaining

3. The text contains different mistakes: 4 — in spelling, 3 — in grammar. Correct
the mistakes and rewrite the text.

Mehanical engineering are a scientific and technical basis for machinery
advansements. It is due to the fact that it use new materials and enhanced tehnologies.
The main goals of engineering is to streamline mashines in terms

of efficiency, safety, reliability and ecological performance.

4. Answer these multiple-choice questions about engineering and mechanical
engineering.

1. What does ‘engineering’ mean?

A. application of scientific principles to each particular engineering
branch

B. type of industry widespread nowadays

C. knowledge

2. What branches does engineering have?

A. engineering education

B. electrical engineering devices

C. chemical, electrical, civil, and mechanical engineering

3. What is mechanical engineering?

A. branch of engineering

B. subject for discussion

C. core concept

4. What does mechanical engineering use core concepts for?

A. to analyse and design mechanical systems

B. to analyse, design, and manufacture mechanical systems

C. to analyse, design, manufacture, and maintain mechanical systems
5. What other engineering branches does mechanical engineering overlap
with?

A. aerospace, mining, petroleum, marine engineering

B. aerospace, civil, electrical, and chemical engineering

C. aerospace, civil, electrical, petroleum, and chemical engineering.



Monayas 5.

1. Choose the proper words and fill in the blanks.
I.FMSis ... .

A. a technology C. a cell

B. an idea D. a manufacturing technology and a philosophy
2. The idea of FMS was proposed under the name ... .
A. “system 24” C. “system 01

B. “system 12” D. “system 007

3. Early FMSs were... .

A. internal C. chemical

B. electrical D. large and very complex

4. Two or more CNC. machines are... .

A. aflexible cell C. FMS

B. a flexible element D. a set of CNC

5. Two or more cells are ... .

A. FMS C. a control system

B. a set of cells D. a handling system

2. Fill in the blanks with the proper grammatical forms.

1. They succeeded in ... controlled environment in the form of NC and CNC
machines.

A. to bring B. bringing C. brought D. was brought

2. Two or more CNC. machines are thought of .... a flexible cell.

A. is B. are C. being D. been

3. Their tasks are ... .

A. tracking and monitoring C. be and do

B. track and monitor D. cut and signal

4. The automobile industry keeps on ... money by using FMSs.

A. saves B. saving C. being saved D. was saving

5. ... machines can not only speed the process up, but bring the price down.
A. To use B. Using C. Is used D. Having used

3. The text contains different mistakes: 2 — in spelling, 4 — in grammar. Correct
the mistakes and rewrite the text.
One of the ideas behind FMS are allowing the business to forsee and to
prioritize the goals of inovations in technology. Technological barriers are involve
in slowing the efforts of be more adaptable. It require additional planning
to cope with these obstacles.

4. Answer these multiple-choice questions about FMS.

1. What does the word FMS mean?
A. a manufacturing system

B. a sequence of operations

C. knowledge

2. What is CNC?

A. a method of controlling machines
B. a system of knowledge

C. an intraorganizational cooperation
3. What is a flexible cell?

A. anew trend



B. parts

C. two or more CNC machines

4. What is FMS?

A. two or more cells

B. machine tools

C. work stations

5. What is the goal of the agile manufacturing?

A. to quickly respond to needs and market changes
B. to arrange inventory management

C. to install a material handling system

Monayas 6.

1. Choose the proper words and fill in the blanks.

1. The system ... is usually stored in read-only memory.
A. hardware B. software C. firmware D. variety

2. Instructions and data are fed through the ... devices
A. output B. input C. control D. memory

3. A computer can perform very complex numerical...
A. communication C. instructions

B. computations D. tasks

4. Numbers and instructions forming the programme are ... in the memory.
A. stored B. solved C. settled D. simulated

5. The control unit serves for ... orders.

A. reading B. inputting C. interpreting D. fulfilling

2. Fill in the blanks with the proper grammatical forms.

1. The basic function of a computer is ... .

A. process B. to process C. to be processed D. being processed

2. ... information into the computer is realized by means of flashcards.
A. Input B. Inputs C. Inputting D. Is input

3. Air traffic control depends on computer- ... data.

A. generating B. generated C. generate D. is generated

4. Computers were designed ... thousands of operations per second.
A. to perform B. perform C. performing D. have performed

5. Analytical engine ... to store data.

A. were invented C. was invented

B. invented D. is being invented

3. The text contains different mistakes: 2 — in spelling, 4 — in grammar. Correct
the mistakes and rewrite the text.

The most comon keyboard device use the QWERTY keyboard. It called

a “QWERTY” keyboard because there is the first six letters on the top left of
the keyboard. The multimedia input devices is digit kamera, webcam, video
capture, scanner, and voice data entry.

4. Answer these multiple-choice questions about science and technology.

1. What Is a computer?

A. a device to process information

B. a device to accept information

C. a device to accept and input information

2. What units does the case (or chassis) house?

A. a motherboard, a power supply unit, RAM, CPU, ROM



B. CU, a power supply unit, ALU, ROM

C. a motherboard, CU, CPU, ROM

3. What kind of storage do you know?

A. primary and direct

B. secondary and indirect

C. primary and secondary

4. What basic types of computers can you name?
A. digital and numerical

B. digital and analog

C. numerical and analog

5. What are the main components of the CPU?
A. CU and ALU

B. CU and a power supply unit

C. ALU and RAM

Monayas /.

1. Choose the proper words and fill in the blanks.

1. Materials which consist of two or more elements combined by chemical
reaction present a category of ... .

A. elements C. mixtures

B. compounds D. composite materials

2. ... is a matrix with a reinforced material inside it.

A. An element C. A mixture

B. A compound D. A composite material

3. ... includes two or more elements which are not chemically bound.
A. An element C. A mixture

B. A compound D. A composite material

4. ... cannot be broken into separate constituents.

A. An element C. A mixture

B. A compound D. A composite material

5. Cast iron and steel are ... .

A. elements C. mixtures

B. compounds D. composite materials

2. Fill in the blanks with the proper forms of the infinitive.
1. We didn’t believe you ... it.

A.todo C. do

B. to be done D. to have been done

2. The teacher wishes them ... part in the conference.

A. to have been taken C. to be taken

B. to take D. take

3. He allowed these data ... in the article.

A. to use B. use C. to be used D. be used

4. He didn’t expect them ... here.

A. to study C. to have been studied

B. to be studied D. study

5. The teacher made the students ... the metal properties.
A. to study C. to have been studied

B. to be studied D. study

3. The text contains different mistakes: 2 — in spelling, 5 — in grammar. Correct
the mistakes and rewrite the text.
There are various clases of materials. They can be divide into two groups:



metals and non-metals. Metals includes ferrous and non-ferrous metals. Cast
iron and steel is common ferrous metals. Copper and aluminium is non-ferrous
metals. Non-metals embraces polimers, ceramics, etc.

4. Answer these multiple-choice questions about engineering materials.
1. What do metals include?

A. traditional groups

B. ferrous and non-ferrous metals

C. metallic and non-metallic materials

2. How does large amount of carbon in cast iron influence its properties?
A. it increases its properties

B. it increases its conductivity

C. it increases its brittleness

Monayas 8.

1. Choose the proper words and fill in the blanks.

1. Forming processes ... casting, metalworking by the application of force or
pressure, powder metallurgy.

A. achieve B. embrace C. improve D. complete

2. A. mold ... a hollow cavity.

A. improves B. achieves C. completes D. contains

3. Molten metal is allowed ... .

A. to achieve B. to improve C. to solidify D. to complete

4. Final metallurgy processes include ..., extrusion, drawing.

A. rolling B. casting C. forging D. stamping

5. Forging operations embrace drawing out, ..., squeezing in compression
dies.

A. rolling B. upsetting C. forging D. stamping

2. Fill in the blanks. The words in brackets will help you.

1. This process ... to improve the mechanical properties of this metal
(BeposiTHO).

A. are likely B. is like C. were likely D. is likely

2. The dies ... to be precisely shaped (oxa3siBactes).

A. proved B. prove C. are proved D. proves

3. Forgings ... to be stronger than equivalent castings (M3BecTHO).
A. is known B. are known C. is know D. was known

4. Casting ... to be one of the main manufacturing processes (Heco-
MHEHHO).

A. are certain B. is certain C. were certain D. to be certain

5. He ... to achieve the aim (kaxercs).

A. seemed B. is seemed C. seems D. seem

3. The text contains different mistakes: 4 — in spelling, 3 — in grammar. Correct
the mistakes and rewrite the text.
Casting is one of the main manufacturing proceses. Casting is a process
of poring molten metall into a mold where it solidify into the shape of a mold.
Casting was well establish in the Bronze Age when it was use to form bronze
pieces now found in muzeums.

4. Answer these multiple-choice questions about engineering materials technology.
1. What operations does forging include?



A. casting, forging, pressing

B. drawing out, upsetting, squeezing in compression dies
C. forming, cutting, joining

2. What processes does final metallurgy embrace?

A. rolling, forging, drawing

B. rolling, extrusion, drawing

C. forging, casting, drawing

3. What kinds of casting do you know?

A. sand casting, spin casting, shell casting, die casting

B. mold casting, sand casting, die casting, spin casting

C. sand casting, shell-mold casting, die casting, spin casting
4. What temperatures can forging operations be performed at?
A. at various temperatures

B. above the recrystallization temperature

C. below the recrystallization temperature

5. What processes does metalworking include?

A. forming, cutting

B. forming, joining

C. forming, cutting, joining

Moayas 10.

1. Choose the proper words and fill in the blanks.

1. The resolution on the construction of ... was adopted.

A. vehicles B. categories C. goods D. units

2. Category ‘M’ includes motor vehicles for the ... of passengers.
A. construction C. goods

B. carriage D. classification

3. Motor cars may be classified according to the chassis ... .
A. engine B. fuel C. frame D. vehicle

4. Pickups are used for the transportation of ... equipment.
A. bulky B. desirable C. light D. wheeled

5. Trucks ... in size.

A. adopt B. power C. vary D. perform

2. Fill in the blanks with the proper forms of the Subjunctive Mood.
1. It ... interesting to attend this conference.

A. were B. are C. would be D. been

2. I’ll tell you some more information so that you ... better understand the
problem.

A. will B. might C. are D. were

3. It is necessary that we ... this book.

A. should read C. was reading

B. has read D. reads

4. It is desirable that they ... this car.

A. buys B. bought C. has bought D. should buy

5. We wish they ... here.

A. are B. were C. been D. was

3. The text contains different mistakes: 4 — in spelling, 3 — in grammar. Correct
the mistakes and rewrite the text.



An automobile, motor car or car are a wheeled motor vehicle used for
transporting rather pasengers than goods, which also cary its own engine or
motor. Most definitions of the term specifies that automobiles been desighed
to run primarily on roads, to have seats for one to eight people, and to have
typicaly four wheels.

4. Answer these multiple-choice questions about different types of vehicles.
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1. What vehicle categories do special purpose vehicles embrace?

A. ‘N’, ‘M’, ‘G’

B. ‘N, ‘T’, ‘G’

C.'M’, ‘N, ‘O’

2. What category do off-road vehicles represent?
A G

B. ‘O’

C. N’

3. What types of vehicles do special purpose vehicles embrace?
A. scrapers, bulldozers, graders, excavators

B. scrapers, graders, excavators

C. ambulances, motor caravans

4. What is the characteristic feature of off-road vehicles?
A. gravel surface

B. flexible suspension

C. paved surface

5. What is the characteristic feature of a coach?

A. deep open treads

B. overhead luggage compartments

C. caterpillar tracks

Monyas 11.

1. Choose the proper words and fill in the blanks.

1. A structure of a vehicle provides a ... for all necessary vehicle systems.
A. location B. number C. requirement D. purpose

2. A. motor car includes engine, chassis, and ... .

A. suspension B. body C. diesel D. clutch

3. Transmission embraces ..., gearbox, propeller shaft, etc.
A. frame B. brakes C. clutch D. rear axle

4. ... systems are wheel steering and brake steering.

A. Main B. Major C. Sufficient D. Steering

5. D.rive lines include ..., front and rear axles, etc.

A. frame B. gearbox C. clutch D. space

2. Fill in the blanks with the proper grammar forms.

1. The power of the engine ... through the transmission and drive lines.

A.is to be transmitted C.is to transmit

B.are to be transmitted D. to be transmitted

2. The main purpose of a motor car ... comfortable accommodation for occupants.
A.is to be provided C. provides

B.provided D. is to provide

3. Bulky equipment ... easily into the estate body car.

A.can load C.can loaded

B.can be loaded D. can be load



4. The hatchback design ... on a saloon body.
A.to be based B.are based C.is based D. based
5. Cabriolet ... into an open car.

A.can change C.can be change

B.can changed D. can be changed

3. The text contains different mistakes: 4 — in spelling, 3 — in grammar. Correct
the mistakes and rewrite the text.

In British English, the term ‘transmission’ refer to the whole drive train,
including Kklutch, gearbox, propeller shaft (for rear-wheel drive), diferential,
and final drive shafts. In American English, a gearbox are any device which
convert speed and torque, whereas a transmision is a type of gearbox that can
be “shifted” to change the speed-torque ratio dynamicaly.

4. Answer these multiple-choice questions about motor car components.
1. What are the main structural components of a motor car?
A. engine, body, chassis

B. suspension, transmission, engine

C. chassis, transmission, engine

2. What are the chassis components?

A. suspension, transmission, steering system

B. drive lines, transmission, steering systems

C. brakes, wheel steering, transmission

3. What is the usual source of energy for a heavy vehicle?
A. diesel

B. petrol engine

C. gasoline engine

4. What does transmission embrace?

A. clutch, gearbox, propeller shaft, etc.

B. main shaft, differentials, frame, etc.

C. main shaft, half-shafts, drive lines, etc.

5. What do drive lines contain?

A. frame, front and rear axles, suspension

B. frame, suspension, wheels

C. frame, front and rear axles, suspension, wheels

Monayasb 12,

1. Choose the proper words and fill in the blanks.

1. An internal combustion (IC) engine is an engine in which ... of the fuel takes place in a confined space.
A. melting B. combustion C. forging D. cutting

2. The first internal combustion engine ran on..., but worked on a cycle of operations, which did not include
compression of the gas before ignition.

A. natural gas B. petrol C. coal gas D. diesel oil

3. The most significant distinction between modern internal combustion engines and the early designs is the
use of ... .

A. pressure B. damping C. ignition D. compression

4. A reciprocating engine has one or more cylinders in which pistons reciprocate

A. up and down C. left and right

B. back and forth D. round the cylinder

5. Basic design divides engines into reciprocating and ... ones.

A. royal B. round C. rotary D. rolling

2. Fill in the blanks with the proper forms of the Passive Voice.



1. The first commercially successful internal combustion engine ... by

a Frenchman, Etienne Lenoir in 1860.

A. is created B. was created C. are created D. will be created

2. The combustion chamber... in the closed end of each cylinder.

A. am located B. are located C. is located D. were located

3. Power... to a rotating output crankshaft by mechanical linkage with the
pistons in reciprocating engine.

A. am delivered C. are delivered

B. is delivered D. were delivered

4. In-Line engine cylinders ... in a straight line, one behind the other along
the length of the crankshaft.

A. are positioned C. was positioned

B. is positioned D. am positioned

5. Engines of two different cylinder arrangements... as W-type engines in the
technical literature.

A. are classified C. has been classified

B. is classified D. was classified

3. The text contains different mistakes: 4 — in spelling, 3 — in grammar. Correct
the mistakes and rewrite the text.

Modern internal combustion engines can to be clasified in a number of different ways. Several or all
of these classifications can be use at the same time to identify a given engine. Thus, a modern engine might
be calles a reciprocating, spark-ignition, four-stroke cycle, I-head, woter-cooled, gasoline, multipoint port
fuel injection avtomobile engine.

4. Answer these multiple-choice questions about engineering materials technology.
1. What types can engines according to the type of ignition be divided into?
A. spark-ignition and compression-ignition engines

B. cylinder-ignition and piston-ignition engines

C. valve-ignition and crankshaft-ignition engines

2. What types can engines depending on the engine cycle be divided into?
A. three-stroke cycle and five-stroke cycle

B. four stroke cycle and two-stroke cycle

C. six-stroke cycle and seven-stroke cycle

3. What engine has two piston movements over one revolution for each cycle?
A. a rotary engine

B. a four stroke cycle engine

C. atwo-stroke cycle engine

4. How are the internal combustion engines called in accordance with the
valve location?

A. J-head engines and K-head engines

B. Y-head engines and B-head engines

C. I-head engines and L-head engines

5. How are engines called with pistons positioned in a circular plane around
a circular crankshaft?

A. reciprocating engines

B. radial engines

C. rotary engines

Monayasb 13.

1. Choose the proper words and fill in the blanks.



1. The primary products of the oil & gas industry are... .

A. crude oil, natural gas liquids

C. mazute

B. jet fuel

D. crude oil, natural gas liquids, natural gas

2. The major processes are... .

A. exploration

C. exploration, production, well development, site abandonment
B. production

D. production, exploration, site abandonment

3. Crude oil is the mixture of... .

A. hydrocarbons B. hydrogen C. oxygen D. carbon

4. Most of the world’s petroleum was found trapped in ... rocks.
A. porous B. deep C. sedimentary basins D. high

5. ... transformed the organic materials into solid, liquid or gaseous hydrocarbons.
A. Distillation B. Coking C. Heating D. Cooling

2. Fill in the blanks with the proper grammatical forms.

1. If you ... very hard, you can master your skills.

A. try B. will try C. would try D. had tried

2. Time will be saved if we ... a pump.

A. use B. will use C. would use D. to use

3. It would be a good thing if that well ... lack the potential to produce economic
quantities of oil and gas.

A. didn’t B. will not C. wouldn’t D. will

4. 1If1 ... in your place, | would use that equipment.

A. were B. was C. am D. will be

5. We are speaking about the crude oil... can be transformed into gasoline.
A. whose B. who C. what D. that

3. The text contains different mistakes: 2 — in spelling, 5 — in grammar.
Correct the mistakes and rewrite the text.

When crude oil is first bring to the surface, it may to contain a mikture of natural gas and produced
fluids such as salt water and both dissolved and suspended solids. Natural gas is separated at the well site and
is process for sale if natural gas pipelines is nearby. Metane is the predominant component of natural gas, but
ethane, propane and butane are also significant component.

4. Answer these multiple-choice questions about the oil and gas industry
1. What are the major processes of the oil & gas industry?

A. production and exploration

B. exploration, well development, production, site exploration

C. exploration, well development, production, site abandonment

2. What is installed in the well to carry the liquids and gas to the surface?
A. tubing

B. casing

C. restoring

3. What is the most common type of the pumps used in the well?

A. drilling rig

B. rod pump

C. production rig

4. What prevents water from getting into the wellbore?

A. tubing

B. well

C. rock



5. Chemicals derived from petroleum and natural gas are ... .
A. petrochemicals

B. additives

C. hydrocarbons

IlIkana ouenueanusn. 100 OannpHas.
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1.4 POJIEBAS UTPA

Moayas 11: Food processing
HaumenoBanue urpbl: Food processing.
You are going to give a lecture on different techniques and methods that are used in the food
processing for foreign students. The language of international communication is English, of
course.
IlepeyeHnb poJieii: y9aCTHUKHA KOH(PEPEHIIMH, TOCTH KOH(EPEHITUH.

Konnenuus wurpei: Co3manme KBa3UNpPOPECCHOHATBHOW Cpebl, CIOCOOCTBYIOMICH
podecCHOHAIBHON conuanu3anuu oOydarommxcs. Llems urpbl - pa3BUTHE CHEIHATLHOM
WHOSI3BIYHOM peueBON KOMITETCHIINH 00yJaeMBbIX.

O:xugaemMbie pe3yJbTaThl: 3aKpPETUICHHE HEOOXOIUMBIX Pa3roBOPHBIX GopMyll, 00yUueHue
MCKIIMYHOCTHOMY O6HICHI/IIO u BSaHMOIIGfICTBI/IIO B YCIIOBUAX COBMECTHOM
podeccHOHAIbHON /IeATENbHOCTH U B PaMKaxX pealbHO CYIIECTBYIOIIMX COIMAJIbHBIX
CUTYalllil B3aUMOJICHCTBUS.

Moayas 12: Food stuffs
HaumenoBanue urpsni: MexiyHapoiHas MoJiouHas enepanus
Ilepeyens poaeit: [IpencraBurenu pa3HbeIX cTpaH.

You are the member of the International Dairy Federation. You represents RF. Describe
what sorts of cheese are manufactured in our country, name and define each of them.

Konnenuusi wurpei: Co3nanue KBa3unpoeCCHOHAIBHOW CpPElbl, CIIOCOOCTBYIOMICH

npodheCcCHOHANBHON conManu3anuu odydarommxcs. Lleas urpsl - pa3BUTHE CHEIHMATBHOU
HWHOSI3BIYHOM PeUeBON KOMIICTCHIIMH 00yJIaeMbIX.

O:xugaemMble pe3yabTaThl: 3aKpeIUICHUE HEOOXOAUMBIX Pa3rOBOPHBIX (GopMysl, oOydeHHe
MEKIUYHOCTHOMY  OOIICHUIO W  B3aWMOJCHCTBUIO B  YCIOBHSIX  COBMECTHOU
poheCCHOHANTBHOM JIEATEILHOCTH W B paMKaxX peajbHO CYMIECTBYIONIUX COIMAIBHBIX
CUTYallUl B3aUMOJICHCTBUA.

Monyas 13: Food industry
HaumenoBanue urpsor: At fast food restaurant

You are a client at the fast food restaurant. You are hungry; rude; polite; tired; sick;
sleepy.Choose the role and make the order. The waiter should stay calm and polite
anyway.

Ilepeyennb poJieit: kaueHT (IoceTUTENb), O(DUIIMAHT.

Konnenuusi urpei: Co3manue KBa3UNpo(hecCHOHATBHOM Cpejbl, CIOCOOCTBYIOMIEH
HpO(I)eCCHOHaHLHOﬁ conquajamn3danun 06yqa101unxc>1. ]_[eJ'IB HUI'PBI - PAa3BUTHC CHeHHaHBHOﬁ
HHOS3BIYHOU pequoﬁ KOMIICTCHIINN 06y‘laeMBIX.

O)Kl/l}:[aeMble pPe3yJabTaTbl: 3aKPCIICHUC HeO6XO,Z[I/IMI>IX Pa3roBOPHLIX (1)OpMy'J'I, 06yquI/Ie
MCKIIMYHOCTHOMY OGIJ.ICHI/IIO u B3aI/IMO,Z[eI>'ICTBHIO B YCIOBUAX COBMECTHOM
HpO(I)eCCHOHaHLHOﬁ ACATCIIBHOCTH M B paMKaxX peajibHO CYHCCTBYHOIIUX COLUAJIbHBIX
CUTYallUi B3aUMOICHCTBUS.

Kpumepuu ouyenueanus (nudicecnedyrowjue Kpumepuu OYeHKU A6IAI0MCA NPUMEPHBIMU
U MO2Yym KOPPEeKmupo8amucs).

OIICHKa «OTJMYHO» BBICTABISAETCA OOy4arolmemycs, €cld OH NPHUHUMAET
AKTUBHOE YYacTHE€ B POJIEBOM HMIpe M MOJHOCTBHIO CHPABISETCS C MOPYYEHHOU €My
POJIBIO, BBITIOJHSSI TpEOyeMble OT HEro TPYIOBBIC JECHUCTBUS M MPOSBISS CIOCOOHOCTH



MPUMEHATh HA MPAKTHKE HEOOXOIMMBIE Ul 3TOTO 3HAHHS, YMEHHS M HABBIKH; JIETKO
OTKJIMKAETCS HA PAa3BUTHE M HEOXKUIAHHBIE IOBOPOTHI UTPOBOTO «IPO(PECCHOHATHHOTOY
CIOJKETa, CO3aBacMOTr0 IIPENOoJaBaTelIeM B PEXKHUME PEalbHOTO BPEMEHH; CBOOOTHO U
3pPEKTUBHO B3aUMOACUCTBYET C IPYTUMHU YYAaCTHUKAMU HUIPHI (CBOMMH «IEJIOBBIMID)
napTHEpaMM); 3a7aHusl, MOJyYCHHBIE B XOJI€ MTPbI, BHIMOJHEHBl TOYHO U MPABHIIBHO;
npu  OOCYKIEHMM  PE3yJabTaTOB  MUIPhl  JIEMOHCTPUPYET  CHOCOOHOCTH K
npodeccuoHaTbHON caMmopedIeKCHH.

OIICHKa «XOPOWIO» BbICTABJsIETCS oOOydarouemycs, €clii OH XOpOIIO
OPUEHTUPYETCS B HMCKYCCTBEHHO CO3JA@HHON «IpO(ECCHOHATBHONY) CUTYallud, HpU
BBIIIOJITHEHUU CBOEH POJM JIEMOHCTPUPYET AKTHMBHOCTH M TOTOBHOCTH BBINOJHSATH
HEOOXO/IMMbIE TpPYAOBbIE JEWUCTBUSA, JOMYyCKas OT/EIbHbIE HEIOYEThl; aJeKBATHO
pearupyer Ha pa3BUTHE U HEOXKHMJIAHHBIE MOBOPOTHI UTPOBOTO «IPO(ECCUOHATILHOTOY
CIOJKETa, CO3JaBa€MOI0 IIPENOAABATEIEM B PEKHUME PEaIbHOTO BPEMEHHU; CTapacTcs
«podeccoHaNbHO» B3aUMOJIEHCTBOBaTh C JIPYIMMH YYaCTHUKaMU WIpbl (CBOMMH
«JIeJIOBBIMUY TAapTHEpaMH); 3aJaHusl, MOJIYYEHHbIE B XOJE€ UIPhl, BBHIIOJHEHBI C
HEOOJBIIMMHM  HENOYeTaMH; MpH OOCYXKJEHMM Ppe3yJIbTaTOB WIPbl  IPOSBISAET
KPUTHYHOCTh IO OTHOIIEHHIO K cCaMoMy cebe.

OIICHKa «Yyd0BJIE€TBOPUTEJIbHO» BBICTABISIECTCA OOy4arolleMycsi, €clii OH
HY)XJaeTcd B IIOCTOPOHHEW TIOMOLIM IIpU BBINOJHEHWH TPYAOBBIX JCHCTBUH,
BBITIOJIHSASA JOBEPEHHYIO €My POJIb B MCKYCCTBEHHO CO3JIAHHOM «IIpOoQecCHOHaTbHON
CUTYyallM{; MPU BBINOJHEHUH CBOEH pPOJIM JEMOHCTPUPYET HEMOJHOTY COOCTBEHHBIX
3HaHUM, BCIEACTBUE YEr0 NACCUBEH M MCHBITBIBAET 3ATPYAHEHHS NPHU HEOKHIAHHOM
Pa3BUTUH HUT'POBOTO
«IIpOo(heCCHOHAIIBEHOTO» CIOKETA, CO3/1aBaéMOI0o MPErnoJaBaTeiIeM B PEXUME PEATbHOTO
BPEMEHHU; HEYBEPEHHO B3aMMOJEHCTBYET C JPYTMMH YYaCTHHUKaMHM WIpPbl (CBOMMH
«IEIOBBIMUY TApTHEpaMH); 3a/aHusl, IOJYyYEHHbIE B XOJI€ WIPbI, BBIMOJHEHBI C
OMOKaMHU; TNpU OOCYXKAEHUU pe3ylIbTaTOB WIPhl IACCUBEH, BHELIHIOI OLICHKY
IIPEAIIOYUTAET CAMOOLICHKE.

OLICHKA «HeY/10BJIeTBOPHUTEJbHO» BHICTABISETCA O0yJarolEMycs, €CIIM OH He
CIPaBUJICA C BBIOJHEHHUEM TPYAOBBIX AECHCTBUI, HEOOXOAMMBIX IO AOCTaBLICHCS eMy
POJIM B UCKYCCTBEHHO CO3JAaHHOW «IIPO(eCCHOHATBHON» CUTYallMH; IIPU BBIOJHEHUU
CBOEH pOJM JIEMOHCTPUPYET OTCYTCTBHE JJIEMEHTAPHBIX 3HAHWM, BCIIECICTBUE YErO
MIACCUBEH M TEPSAETCs NMPH HEOXKUJAHHOM PA3BUTUU UIPOBOIO «IIPO(ECCHOHATBLHOIO»
CIOXKETa, CO3/1aBaeMOr0 IPENOJAaBATEIEM B PEKUME PEAIBHOIO BPEMEHH; BBIHYKJIEHHO
u  He’p(EKTHUBHO B3aUMOJEHCTBYET C JPYITMMM YYaCTHMKAMU HWIpPbl (CBOMMH
«JIeIOBBIMIY HapTHEpaMHM); 3a/laHusl, MOJIy4YE€HHbIE B XOJI€ UIPbl, HE BBINOJHEHbI WUIIH
BBITOJIHEHBI C IPyObIMU OIIMOKAaMU; IIPU OOCYKJIEHUH PE3YJIbTaTOB UIPhl HE CIIOCOOCH
JaTh a/IeKBATHYIO MPO(ECCHOHANIBHYIO OLEHKY CBOUM JIEHCTBUSM.

1.4 Tempbl 1151 AUCKYCCHM:

HMuckyceus 1

Speak about Education in general. Speak about SWSU in particular. Name different systems of
education and the leading world universities

JMuckyceus 2

Speak about science and technology nowadays.

HMuckyceus 3

1. Speak about food production, nutrition and food processing.

1.6 CASE-STUDY
Keiic-3agaua 1



You got interested in a newspaper's article dealing with certain problems in the education
systems of several countries. Do you agree or disagree with the author's statements? Express
your own opinion on each point.

e Russia has a national education system.

e There is no difference between "high school” and "higher school™ in the USA.

e Informal education involves people in learning during their daily life.

e Higher education is compulsory for getting a popular and demanded profession.

e Education by correspondence is very convenient.

e It's enough to have general education to be a necessary specialist nowadays.
Keiic-3amaua 2

Your friend is going to enter a university or a college in the UK. What do you think of it?
Share your point of view.

Keiic-3amaua 3
You're going to take part in a students' scientific conference. You're preparing a report about
science and technology. What main points should be in your report?

Keiic-3apava 4
You are a TV reporter at the International scientific space conference. You meet a famous U.S.
astronaut there and have a possibility to interview him. What questions are you going to ask
him?

Keiic-3amaua 5

After graduating university your friend decided to build a career as an automotive engineer. But
now he doesn't really enjoy the type of work he is doing. Would you advise him to take the
opportunity to develop his skills in another field or to succeed in chosen one? Give your reasons.

Keiic-3agauya 6:
The graduates below want to find a job connected with travelling. Read
theTdescriptions of vacant positions and decide which job would be the most suitable for

Carl and Debbie.

Candidates

1. Carl has a journalism degree. He wants a job which involves travelling and also
writing about his experiences. He does not mind spending long periods abroad and he
could start tomorrow.

2. Debbie has a degree in Zoology and wants a job where she can use that knowledge
and also travel. She works well with other people and speaks German. She is not keen on
sports.

Vacant positions

a) Kanco Expeditions is looking for leaders for its Latin American tours. You must
have a driving license and a basic knowledge of Spanish. The job will require you to
spend up to six months per year in Central and South America. Extensive travel
experience is not essential.

b) Life of Adventure Publishers urgently needs a reporter with experience of deep-
sea photography to join its team in Jamaica. The job is for the summer and we offer all



the equipment and comfortable accommodation for a family group if requested.
Excellent salary and free weekends.

¢) World Wildlife, the designer of group wildlife holidays around the world, requires a
tour guide. You must have knowledge of animals, be a real team player and be able to
speak at least one foreign language. No previous experience as a tour guide needed. The
job starts in three weeks' time.

d) Global Tourism is looking for two people with an excellent command of Spanish and
English to accompany groups of English-speaking tourists on whale-watching trips to South
America. You must be fit and a good swimmer. These are one-year jobs starting next
summer.

e) Worldwide Magazine is looking for a travel writer to cover Central and West Africa,
starting immediately. The job is mostly based in our central office, but you must be willing
to spend at least two weeks a month travelling. Previous experience of journalism is
essential.

Keiic-3apava 7:

Decide what sort of computer is best for each of the users below.

Users

1. John Will ring is a salesperson and he spends a lot of time visiting customers. He
wants a computer to carry with him so he can access data about his customers and record
his sales.

2. Pal Nye is a personnel officer. She needs a computer to keep staff records and to
keep a diary of appointments. She also needs a computer for writing letters.

3. The University of the North needs a computer to look after its accounts, its network,
the records of all students and stall, and to help with scientific research.

4. The James family want a computer for entertainment, writing letters, the Internet,
and for calculating tax.

Types of computer systems

a) A mainframe is the most powerful type of computer. It can process and store large
amounts of data. It supports multiple users at the same time and can support more
simultaneous processes than a PC. The central system is a large server connected to
hundreds of terminals over a network. Mainframes are used for large-scale computing
purposes in banks, big companies and universities.

b) A desktop PC has its own processing unit, monitor and keyboard. It is used as a
personal computer in the home or as a workstation for group work. Typical examples are
the IBM PC and the Apple Macintosh.

C) A laptop (also called a notebook PC) is a lightweight computer that you can
transport easily. It can work as fast as a desktop PC, with similar processors, memory
capacity, and disk drives, but it is portable and has a smaller screen.

d) A tablet PC looks like a book, with an LCD screen on which you can write using a
special digital pen. You can fold and rotate the screen 180 degrees. Your handwriting can
be recognized and converted into editable text. You can also type at the detached keyboard
or use voice recognition. It’s mobile and versatile.

e) A wearable computer runs on batteries and is worn on the user’s body, e.g. on a
belt, backpack or vest; it is designed for mobile or hands-free operation. Some devices are
equipped with a wireless modem, a small keyboard and a screen; others are voice-activated
and can access email or voice mail.

Keiic-3agaua 8:



Write an e-mail to your friend about your attending the World Forum for Harmonization
of Vehicles. Describe one of the units of the resolution devoted to the classification of
power-driven vehicles adopted at the Forum in detail.

Keiic-3agaua 9:

I. Look at the Nutrition Facts tables below. In pairs compare Cereal A and Cereal B,
and decide which is the healthier choice.

Cereal A - Nutrition Facts Cereal B - Nutrition Facts

Nutrition Facts
Nutrition Facts

Per 2/3 cup (25 grams)
Per 2/3 cup (25 grams)

Amount %Daily Value
Amount %Daily Value

Calories 200
Calories 100

Fat 29 3%
Fat 19 1%

Saturates 2%
Saturates 1%

+Trans
+Trans

Cholesterol

Cholesterol

Sodium140mg 2%
Sodium140mg 8%

Carbohydrate 21 g 13%
Carbohydrate 21 g 7%

Fibre 1 g 24%
Fibre 1 ¢ 4%

Sugars 20 g
Sugars 20 g

Protein 1g
Protein 19

Vitamin A 0%
Vitamin A 0%

Vitamin C 0%
Vitamin C 0%

Calcium 2%
Calcium 8%

Iron 15%
Iron 25%

Kpumepuu ouyenueanusn (Husicecnedyrowjue Kpumepuu OYeHKU AGAAIOMCA NPUMEPHLIMU U
MO2Ym KOPPEeKmuposamscsi):
OIICHKa «OTJMYHO» BBICTABISETCA OOy4aromemycs, ecld OH MpPHUHUMAET



aKTHBHOE y4YacTHE M TOJHOCTBIO CIIPABISETCS C MOPYYCHHOH €My pOJIbIO, BBIOJHSSA
TpeOyeMbIe OT HEro TPYIOBBIE ACHCTBUS U MPOSIBISAS CIOCOOHOCTh MPUMEHSTh HA MPAKTHKE
HEOOXOJMMBIE [UIi ATOTO 3HAHWSA, YMEHHMS W HaBBIKH, CBOOOIHO U 3(PQEKTUBHO
B3aMMO/ICHCTBYET C IPYIMMHU YYAaCTHHKAMHU (CBOMMH <«JICIIOBBIMI» MAapTHEPAMH); 3adaHUs
BBIMIOJIHEHBl TOYHO M TPAaBWIBHO, TIpU OOCYXKIEHHH pE3yJIbTaTOB JIEMOHCTPUPYET
CIIOCOOHOCTH K TIPO(heCCHOHATBHOU caMopedIeKcuu.

OIICHKA «XOPOIIO0» BBICTABJISETCS 00Yy4aroIEeMYCsl, €CJIM OH XOPOIIO OPUEHTHUPYETCS
B HCKYCCTBEHHO CO3JJAHHOUW «IpO(EeCCHOHATBHON» CHTYyalldd, IMPH BBIIIOJHEHUU CBOECH
3aJla4l JIEMOHCTPUPYET AKTUBHOCTb U TOTOBHOCTH BBINOJIHATH HEOOXOJUMBIE TPYIOBBIE
JNEUCTBUs, [JOIYCKas OTHEIbHBIE HEIOYEThl; AKTUBHO B3aUMOJEHUCTBYET C JPYTUMH
Y4aCTHUKaMH (CBOMMH <«JI€JIOBBIMU» IMapTHEpaMH); 3a/laHUSl BBINOJIHEHbI C HEOOJBIIMMHU
HeJoYeTaMH; NMpU OOCYKJIEHUU pPEe3ylbTaTOB MPOSBISLET KPUTHUYHOCTH 1O OTHOLIEHHUIO K
camomy ceboe.

OIICHKAa «yA0BJIETBOPUTEIbHO» BHICTABIIAETCS 00Y4arOIIEMYCsl, €CIIM OH HY)KJIAeTCs
B IIOCTOPOHHEHN MOMOIIM IIPH BBIITOJIHEHUU TPYIOBBIX JCWCTBUM, BBINOJHASA JTOBEPEHHYIO
€My poJib B UCKYCCTBEHHO CO3JaHHOM «IpO(eCCHOHATbHOW» CUTYalluH; MPHU BBIIOJHEHUU
CBOEH poJIM JEMOHCTPHUPYET HEMOJIHOTY COOCTBEHHBIX 3HAHU, BCIEACTBHE YEro MaCCUBEH U
WCIIBITBIBAET 3aTPYJHEHUS IPU  BBINOJHEHHUM 3a/1aHUs, HEYBEPEHHO B3aWMOJICHCTBYET C
JOPYTMMHU YYaCTHUKAMHU UTPhl (CBOMMH «JIEJIOBBIMI» MapTHEPAMM); 3a/1aHuUs, OJydEHHbIE B
XOJIe UIphl, BBINOJHEHBI C OIIMOKaMH; MpU OOCYXKIEHUU PE3yJbTAaTOB HUIPHl IAaCCHUBEH,
BHEIIIHIOIO OLIEHKY MPEIITOYUTAET CAMOOLICHKE.

«HeyI0BJIeTBOPUTEIbHO» BBICTABISETCS 00yJarolIeMycsl, €ClIi OHHE CIIPaBUIICS C
BBITIOJIHEHUEM TPYAOBBIX JEHCTBUIM, HEOOXOMUMBIX MO JOCTaBIIelcs €My pOJd B
HCKYCCTBEHHO CO3/1aHHON «IIpO(eCCHOHANBHOW» CUTYaLluu; IIPU BHITIOJIHEHUH CBOEH 3a7aun
JEMOHCTPUPYET OTCYTCTBHE DJIEMEHTAPHBIX 3HAHUH, BCIEACTBUE YETO NACCUBEH U TEPSAETCS
IIPU HEOXHUJAHHOM pa3BUTUU HUIPOBOTO «IIPO(PECCHOHAIBHOIO» CHOKETa, CO3/1aBaeMOIo
IIPENO/IaBaTelIeM B PEXUME pEalbHOIO BPEMEHH; BBIHYXKAEHHO M  Hed(p(eKkTuBHO
B3aMMOJICHCTBYET C JPYTMMH YYaCTHHKaMU (CBOMMHM «JAEJIOBBIMM» IapTHEpPaMu); He
crnocoOeH J1aTh aJeKBaTHYIO NPO(ECCHOHATBHYIO OLIEHKY CBOMM JECHCTBUIM.

BOITPOCHI JIJISI TIPOMEXYTOYHOM ATTECTAIIMU (3AYETA)

«IOT'0-3AIATHBII TOCYJIAPCTBEHHBI YHUBEPCUTET»

MexaHHUKO- TEXHOJIOTHYECKHI (DaKyIbTET YTBepKIeHO Ha 3aceaHuu Kadeapsbl

Hamnpanenue moAroToBku (CHeruaIbHOCTH) MHOCTPAHHBIX SI3BIKOB

23.05.01 « Ha3emHbIe TPaHCIIOPTHO- «__» r. (mpotokoa Ne )

TEXHOJOTHYECKHUE CPEJICTBA»

Jucuumimaa MHOCTpaHHBIN S3bIK 3aB. kadeapoi A E.
basnkui

IIpome:xxyTounas arrecranus (3a4er) Bapuant Ne 1
I. Read the text and choose the right statements from given below. Only one answer is correct. (8 points)
Blackberries

‘There, I think that’s enough,’ said Mr. Frensham. ‘Very handsome.’

The boy was having his hair cut for the first time in his life. ‘“We’re off to do some shopping,’ tl
boy’s mother said as she handed Mr. Frensham the money.

They were going to buy the boy a cap, a round cap with a little button on top and a peak over f
eyes. The boy wanted the cap very much. ‘This is the smallest size we have,” the man in the clothes shc
said. He put the cap on the boy’s head and stood back to look. It was a beautiful cap. ‘It’s a little big,” sa



the man, ‘but you want something he can grow into, something that will last him a long time.” ‘Oh I hoj
so,” his mother said. ‘It’s expensive enough.’

The boy carried the cap back to the house himself. When his father came home late in the afternoo
the boy put on his cap and stood before his father. The man put his hand on the boy’s head and looked
him. ‘On Sunday,’ he said, we’ll go for a walk. Just you and I. We’ll be men together.’

Although it was late in September, the sun was warm and the paths were dry. ‘Come on, * said h
father, ‘or we’ll never reach Fletcher’s Woods.” ‘Will there be blackberries there?’ he asked. ‘There shou
be,” his father said. ‘I’ll pick some for you.’

In Fletcher’s Woods his father showed him a tangle of blackberry bushes. Clusters of purple fit
hung in the branches. His father reached up and chose a blackberry for him. Its skin was plump and shinin
“You can eat it,” his father said. Together they picked and ate the dark berries, until their lips were purp
and their hands marked and scratched. ‘We should take some for your mother,” the man said. They h:
nothing to carry them in, so the boy put his new cap next to the grass and they filled it with berries.

* * %

‘It was a stupid thing to do,” his mother said, ‘utterly stupid. What were you thinking of?” The m:
didn’t answer. ‘If we had the money, it would be different,” his mother said. “Where do you think the mone
comes from?’

‘I know where it comes from,” his father said. ‘I work hard enough for it.” The cap lay on the tabl
Inside it was wet with sticky juice of blackberries. The stains were dark and irregular. ‘It’ll dry out
right,” his father said. His mother’s face was red and her voice was shrill. ‘If you had a proper job,’ sl
shouted, ‘and could buy caps by the dozen, then ...~

‘I do what I can,’ he said. ‘That’s not much,’ his mother said. “You don’t do much!’

Appalled, the child watched the quarrel grow. He began to cry quietly, to himself, knowing that
was a different weeping from any that he had experienced before, that he was crying for a different pain. F
began to understand that they were different people; his father, his mother, himself, and that he must lea
sometimes to be alone.

1. The mother decided to buy ...

a) a cap c) blackberries

b) a bag d) sweets

2. The boy liked the cap because ...

a) it was a nice color b) it covered his hair which was now too short
¢) it made him look more grown-up d) his friend had the same cap

3. The boy enjoyed his Sunday walk with his father because ...

a) he had never been to Fletcher’s Woods before b) they picked and ate blackberri
together

c) he could wear his cap d) mother stayed at home

4. The mother was very angry because ...

a) they got back late b) they had eaten most of the blackberrig
c) they had collected berries in the boy’s new cap d) they had lost each other

Il. Fill in the blanks. (8 points)

1) Where’s John? I want to talk to . (HE)

2) Christmas is the holiday in Great Britain. (POPULAR)




3) The water . Can you turn it off? (TO BOIL)

4) Two hundred people by the company. (TO EMPLOY)

I11. Make sentences from the given words. (6 points)

1)Are, more, water, polluted, and, becoming, air, now.
2)Problem, what, becoming, is, global?

3)Not, will, passed, by, have, they, exams, their, arrival, your.

IV. Read the text and complete the blanks with the following. (8 points).
a)loneliness amongst the elderly

b)dealing with harmful chemicals

c)comes from the television

d)can communicate with deaf people

ASIMO - the caring robot
In 1986, Honda (a company known mainly for its cars and motorbikes) started work on developing a rob:
which would be able to walk . 28 years later, in 2014, ASIMO was unveiled. ASIMO is currently the mo
realistic humanoid robot in the world. It can jump, run, walk, climb stairs and even hop on one leg! It c:
also use its five fully functioning fingers to hold objects in its hands. ASIMO has cameras for eyes, and h
the ability to recognise faces and map out its surroundings. It can also understand basic commands and
programmed to know American and British Sign Language so (1)
Honda has been taking ASIMO all around the world to show it to young people in order to inspire ar
encourage them to study science. Honda has also said that in the future, ASIMO might be able to do certa
things which would be dangerous for humans to do, such as fire fighting and (2)
Many people say that ASIMO is a fantastic creation because it could be used to help elderly and dlsable
people who cannot do basic important tasks, such as cleaning or washing up. In England, more than half
people aged 75 and over live by themselves, and 5 million of them say that their main form of compar
3 . The fact that elderly people are increasingly lonely in a society which is built arour
communication through the internet and social media is incredibly sad.
Personally, although I think ASIMO is an incredible invention, I am disgusted by the fact that we are havir
to use a robot to combat such a simple problem as (4) . It is a horrible thought that no o
seems to care enough about the older generation to make an effort to communicate and be friendly wi
them.
So if you know an elderly person, like your grandma or grandpa, maybe you should call them up on tt
phone each week or go round to their house for a cup of tea or coffee and talk about the weather. I'm su
they will really appreciate the effort; a little goes a long way.
V. Problem solving (6 points).
You got interested in a newspaper's article dealing with certain problems in the education systems of sever
countries. Do you agree or disagree with the author's statements? Express your own opinion on each point.

e Russia has a national education system.

e There is no difference between "high school" and "higher school™ in the USA.

¢ Informal education involves people in learning during their daily life.

e Higher education is compulsory for getting a popular and demanded profession.

e Education by correspondence is very convenient.




e It's enough to have general education to be a necessary specialist nowadays.

3aB.CEKIMEN aHIVIMHCKOTO S3bIKa T..B. Kpyxxunut

«FOT'O-3ATTATHBIA TOCYJAPCTBEHHBIY YHUBEPCUTET»

MeXaHHUKO- TeXHOJIOTHYECKUH (haKyIbTeT YTBepx/IeHO Ha 3acelaHuH Kadeapsl

Hanpasiienne noAroToBku (crennagibHOCTH) MHOCTPAHHbIX SI3bIKOB

23.05.01 « HazemHBIE TPaHCTIOPTHO- «_» r. (mpoTokoa Ne )

TEXHOJIOTMYECKHUE CPEJICTBA»

Jucuunnmaa MHOCTpaHHBIN S3bIK 3aB. kadenpoit U E.T.
basnknHa

I[Ipome:xxyTouHasi arrecTanus (3a4er) BapuaHT Ne 2
I. Read the text and choose the right statements below. Only one statement is correct. (8 points)
Sad story

George had stolen some money, but the police had caught him and he had been put into prison.
trial was about to begin, and he felt sure that he would be found guilty and sent to prison for a long time.

Then he discovered that an old friend of his was one of the members of the jury at his trial. Of cc
didn’t tell anybody, but he managed to see his friend secretly one day. He said to him, “Jim, I know that
will find me guilty of having stolen the money. | cannot hope to be found not guilty of taking it - that v
too much to expect. But | should be grateful to you for the rest of my life if you could persuade t
members of the jury to add a strong recommendation for mercy to their statement that they consider me g

“Well, George,” answered Jim, “I shall certainly try to do what I can for you as an old friend, but
promise anything. The other eleven people. on the jury look terribly strong-minded to me.”

George said that he would quite understand if Jim was not able to do anything for him, and than
warmly for agreeing to help.

The trial went on, and at last the time came for the jury to decide whether George was guilty,
took them 5 hours, but in the end they found George guilty, with a strong recommendation for mercy.

Of course, George was very pleased, but he didn’t have a chance to see Jim for some time after
At last Jim visited him in the prison, and George thanked him warmly and asked him how he had mal
persuade the other members of the jury to recommend mercy.

“Well, George,” Jim answered, “as I thought, those 11 men were very difficult to persuade, but I 1
it in the end by tiring them out. Do you know, those fools had all wanted to find you not guilty.”

1.a) George stole some money, but the police couldn’t catch him.
b) George had been put into prison for stealing some money.

c) George was in prison when someone stole some money.

d) A man stole money, but George was not guilty.

2.a) The friend promised to help. b) He didn’t want to know anything about George.
c¢) George was his enemy. d) The friend promised to put George into prison.
3.a) Jim visited George at home. b) George visited Jim in prison.

¢) Jim never visited George. d) Jim went to see George in prison.

4.a) The jury decided to put him into prison. b) He was not guilty.



c) They wanted to find him not guilty. d) The jury decided to find him guilty.
1. Fill in the blanks. (8 points)

1) Where’s Jane? I want to talk to . (SHE)

2) The Sahara is the desert in the world. (HOT)

3) We in Spain last summer. (TO BE)

4)  This house is very old. It in 1930. (TO BUILD)

I11. Make sentences from the given words. (6 points)

1) Lake Baikal, the, situation, at, is, very, remaining, serious.
2) You, already, have, your, finished, work, diploma?
3) Not, I, Business English, am, yet, doing.

IV. Read the text and complete the blanks with the following. (8 points)

a)every 11 people in Britain

b)in classrooms, toilets and changing rooms

c)will be watching you walk around the shop

d) were caught and prosecuted

Has CCTV gone too far

Closed Circuit Television, usually abbreviated to CCTV, is everywhere in today's society. In fact, whe

about our everyday lives it is virtually impossible to avoid it. If you take a bus to school, there will be

on it. When you pop out to the supermarket to buy some bread, a camera (1) . If you

you'll see cameras on many street corners, at bus stops, on trains and even in some public toilets. We

have developed an obsession with them!

In 2013, an article published in The Guardian (a British newspaper) stated that there was 1 camerz
. There are estimated to be around 6 million CCTV cameras across Britain - now that

cameras! Thanks to our apparent love of CCTV, Britain has been nicknamed the "surveillance state".

CCTV is a vital tool for the police and can help solve crimes - a notable example would be the James Bu

from 1993. CCTV images meant that the two boys who committed the crime (3) . F

CCTV does not always have all the answers. Sometimes the images aren't clear enough to identify peopl

criminals obscure their faces to avoid being caught. Recently, some talking CCTV cameras have been ins

the UK. These react to movement, and warn criminals that their photo has been taken.

In my opinion, CCTV has gone too far. As a nation, we rely on it far too much. At what point did we ¢

replace police officers with technology? Many people claim to feel safer as a result of CCTV; if more pol

around I'm sure they'd feel just as safe! Many schools across Britain have installed CCTV — (4)

They say it helps to prevent bullying - but surely something else could be done instead?

What do you think about CCTV? Are there lots of cameras in the public areas of your town or city?

V. Problem solving (6 points).



Your friend is going to enter a university or a college in the UK. What do you think of it? Share your poi
view.

3aB.CEKIMEN aHITIMHCKOTO S3bIKa T..B. Kpyxuinna

«IOT'O-3ATTATHBIA TOCYJJAPCTBEHHBIV YHUBEPCUTET»

MexaHHKO- TeXHOJIOTHYECKUH PaKyIbTeT VYTBepx/IeHO Ha 3acelaHiH Kadeapbl

Hanpasiienne noAroToBku (crennagibHOCTH) MHOCTPAHHbIX SI3bIKOB

23.05.01 «Ha3emHbIe_ TpaHCIIOPTHO- «_» r. (mpotokon Ne_ )

TEXHOJIOTUYECKUE CPEICTBAY

JucnunnuHa MHOCTpaHHBIN A3BIK 3aB. xkadpenpoit A I
basHk

IIpomexyTounas arrecranus (3a4er) Bapuant Ne 3

I. Read the text and choose the right statements from given below. Only one answer is correct. (
points)

Eastern philosophy and western medicine

“If you really want to do something,” says Dr Patel, “nothing comes in your way. It doesn’t matte
you are a woman or a foreigner. You just go and do it.”

Dr Patel should know. She came to Britain from India as a newly married woman. Her husband \
an Indian lawyer from Kenya, and they planned to go back there to live. But the political situation in E
Africa changed, and like thousands of others they made their home in London. The young Mrs. Patel |
always wanted to be a doctor. Now she saw her chance. Although she had a very young baby, she began
training.

Her two children are grown up now, and Dr Patel is busier than ever. She is a GP (“gen
practitioner”’) with the National Health Service. This means that she has 1,500 people in her care. So
patients, especially the old, often come to see her. Others she may see only once a year. They call on her
everything, from headaches to heart attacks. She is often called out in the night, or at weekends, to
homes of the seriously ill. Most problems she can deal with herself. But if necessary she sends people or
a surgeon or a specialist. “The National Health Service is fantastic,” she says. “I think it’s the finest th
this country has.”

A GP’s life is a very busy one, and some years ago, Dr Patel started to suffer from tiredness :
strain. Western medicine didn’t help, so she turned to Indian ways of healing. The Indian system of “yo
teaches people how to relax, and to live more peaceful lives. It helped her. So she decided to try teach
yoga to her patients, especially those with heart trouble and high blood pressure. It worked. She wrote ab
her results in The Lancet, an important medical paper. The result was amazing. She received 1,200 let!
from forty different countries. Now she has described her discoveries on radio and TV, and has writte
book about them.

Dr Patel didn’t find it easy to settle down in Britain. The food, the weather, and the city i
everything was difficult. And British people are not always friendly to foreigners. Now, after many ye:
she feels that England is home. But it’s a good thing for western medicine that Dr Patel did not forget all
eastern philosophy.

1.a) When Dr Patel moved to Britain she was single.



b) Dr Patel has never had a family.

c) She was accompanied by her husband and two children.

d) The Patels had just married before they came to Britain.

2.a) In London Mrs. Patel saw her chance to have another baby.

b) In London Mrs. Patel saw her chance to get a job of a nurse.

c) In London her desire to become a doctor came true.

d) In London Mrs. Patel realized she would be out of work for a long time.

3 a) She was unable to deal with her problems herself, so she gave up.

b) Western medicine didn’t help her patients, so Dr Patel was constantly suffering from strain.

c) In order to help the most seriously ill Dr Patel turned to Indian ways of healing.

d) To escape from constant tiredness and strain Dr Patel tried the traditional Indian system of “yoga”.
4.a) The system of “yoga” is especially good for people suffering from heart disease and high blood
pressure because it helps to relax.

b) Dr Patel tried her way of healing on her patients suffering from blood disease.

c) Dr Patel tried her way of healing on some of her patients, but failed.

d) Dr Patel has never tried her way of healing.

way of healing gave hope for the many sick in the world and she got letters from 40 different countries.

I1. Fill in the blanks. (8 points)

1) Who is that woman? Why are you looking at ? (SHE)

2) 1It’s to go by car than by train. (CHEAP)

3) We Rose in town a few days ago. (TO SEE)

4) Many accidents by careless driving every year. (TO CAUSE)

I11. Make sentences from the given words. (6 points)

1) Will, several, have, new, manipulators, robots.
2) Seen, you, I, not, have, a, time, long, not, for.
3) People, speak, will, language, all, the same, the world, over?

IV. Read the text and complete the blanks with the following. (8 points)

a)to check our messages.

b)a fitness monitor and a messaging device
c)be charged every day

d)hinder face-to-face communication

The Apple watch: technology gone too far?

For those of you who haven’t heard of it, the Apple watch is the latest invention from the infamous creat
of the iPhone and Apple Mac. As the name suggests, this creation is a device designed to tell us the ti
This is Apple, however, and an Apple watch is never just a watch. In fact, this accessory is multifunctiot
not only does it show us the time, but it also acts as (1) that can be connected with an iPhc




Is this a genius invention or technology gone too far?

Whilst the upcoming Apple watch is stylish in appearance, I can’t help but question certain aspects of
new device. Is it a positive thing to be able to receive messages through a watch, or is this another way
letting technology disrupt our social lives?

Thanks to the invention of the smartwatch, we will no longer have to reach for our pho
(2 . Imagine the possible consequences. A group of friends sitting at a table in a restaut
will ignore each other as everyone will be too busy watching their wrists in anticipation of a new messe
Students will have a means of ‘discreetly’ checking their inbox during school, despite the fact that mol
phones are forbidden in class. The list goes on. Although smartwatches may make communicating throt
technology easier, it seems that it could actually (3) .
Much like a phone, the watch would also need to (4) . This is yet another aspect of the de\
which sets it apart from any ‘normal” watch. If, like me, you struggle when remembering to put your ph
on charge, this is not necessarily a positive thing.

Whilst there are clearly both positive and negative aspects when it comes to Apple’s latest inventios
personally like my single-purpose watch that simply tells me the time! What about you? Would you
interested in having a smartwatch?

V. Problem solving (6 points).

You're going to take part in a students' scientific conference. You're preparing a report about science and
technology. What main points should be in your report?
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I. Read the text and choose the right statements from given below. Only one answer is correct. (

points)
Jorvik - lost Viking capital

A thousand years ago York was one of the largest, richest and most famous cities in the whole
Britain. A monk at that time described it as packed with a huge population, rich merchandise, and trade
‘from all parts, especially Danes’. People in the 10" century called it Jorvik, and knew it as the capital
the North of England, and one of Europe’s greatest trading ports. It owed its prosperity to the hard wo
and commercial enterprise of Viking settlers from Scandinavia who had captured it in AD 866 and almo
totally rebuilt it.

Most of the city’s buildings were made of wood, and have long since been demolished, or hax
burnt down or rotted away. In some parts of modem York, however, near the rivers Ouse and Foss, whi
mn through the center of the city, archaeologists have found that remains of Jorvik, do still survive. The



are buried deep below the streets and buildings of the 20 century city. Here the damp soils have preserve
the timber buildings. Whole streets of houses, shops, workshops and warehouses are to be found, ofte
still standing shoulder high. All the debris and rubbish left by the people of Jorvik in and around the
homes is still there, awaiting discovery.

Between 1976 and 1981 archaeologists from the York Archaeological Trust excavated a part
this lost and all-but-forgotten city. The dig took place in Coppergate, before the city’s new Copperga
Center was built. Four rows of buildings were found, running back from Coppergate itself, almost exact
in the same positions as their modem successors. The remains were so well preserved - even down
boots and shoes, pins and needles, plants and insects - that every aspect of life at the time could |
reconstructed.

York Archaeological Trust decided to try to tell the story of Jorvik as it was a thousand years ag
To do so it built the Jorvik Viking Center in the huge hole created by the dig. Two of the rows of buildin
were reconstructed as we think they were. A further two were preserved just as the archaeological tea
discovered them, the ancient timbers set out as they were found in the late 1970s, deep below the ne
shopping center, where they have lain for centuries.

In the Jorvik Viking Center people from the 20" century journey back in time to the 10" centur
The journey is done in time cars, which silently glide back through the years, past some of the thirty or
generations of York’s people who have walked the pavements of Coppergate, until time stops, on a la
October day in 948. For a while modem time travelers explore Coppergate and a little alley, Lundgat
which runs off it. The neighborhood is full of the sights and sounds and smells of 10" century Jorvi
Townspeople are there, buying and selling, working and playing.

1. 1,000 years ago York was ...

a) more important than present-day York b) the most important city in Britain
c) the most prosperous city in Britain d) the principle city in Britain

2. The buildings that the Vikings built at Jorvik ...

a) are still beneath the streets of modern York b) have all been destroyed

c) have not all disappeared d) are being rebuilt now

3. Archaeologists were able to discover exactly ...

a) how life was lived 1,000 years ago b) how the Vikings captured Jorvik
c) how the Vikings reconstructed their buildings d) what kind of clothes the Vikings
wore

4. Visitors to Jorvik Viking Center ...

a) have to queue up for a long time b) must be quiet in the museum

c) should allow plenty of time for their visit d) are invited to travel back in time

I1. Fill in the blanks. (8 points)

1) We’re going to the cinema. Do you want to come with ? (WE)
2) Idon’t play tennis much these days. I used to play . (OFTEN)
3) Jane tea very often. (TO DRINK)

4) A lot of money in the robbery yesterday. (TO STEAL)

I11. Make sentences from the given words. (6 points)



1) Power, universal, become, electric, has.
2) Exams, are, when, held?
3) There, no, students, are, the, now, room, in.

IV. Read the text and complete the blanks with the following. (8 points)

a) private space explorers

b)would be transported

c)are a possibility in the years to come
d)what life will be like in the future

What is space tourism?

Space tourism is the term used to describe space travel for recreational or leisure purposes. What was on
only a dream - described in books such as Arthur C. Clarke's 2001: A Space Odyssey - is now becoming
reality.

Futurologists are scientists who attempt to develop predictions of (1) . After the first m:
landed on the moon in 1969, they thought that hotels would be built on the moon by the year 200
Futurologists also considered the possibility that, in the 21st century, families might go for a holiday ¢
the moon. Neither of these predictions have come true yet - but the rapid development of technology m:
mean these predictions (2)

Space Adventures is currently the only company to have succeeded in sending paying passengers in
space. Space Adventures worked with the Federal Space Agency of the Russian Federation and Rock
and Space Corporation Energia to facilitate flights for the world's first (3) . Each persc
paid over $20 million for their 10-day trip to the International Space Station.

Following several successful explorations into space, several companies are now considering t
possibility of enabling tourists to visit space. In order to make it more affordable, suborbital space travel
being considered by many companies, including Virgin Galactic. Passengers (4) to a heig
of between 100-160km above earth, experience 3-6 minutes of weightlessness and a view of the sta
before being taken back down to earth. This is expected to cost around $200,000 per person.

Whilst it could be an enriching experience, there are some disadvantages to space tourism. Many criti
have commented that a huge growth in the spaceflight industry could drastically speed up the process
global warming. The ozone layer would be damaged further, and the polar regions would suffer.
addition, space travel is only really a possibility for the super-rich. Although Virgin Galactic claims to |
"opening space to the rest of us", there are still millions of people worldwide who wouldn't be able
afford it.

V. Problem solving (6 points).
You are a TV reporter at the International scientific space conference. You meet a famous U.S. astronaut
there and have a possibility to interview him. What questions are you going to ask him?
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I. Read the text and choose the right statements from given below. Only one answer is correct. (
points)

The life of Mary Quant

Mary Quant was born in 1934. When she was young, there were no teenage fashions. Young wor
were dressed, like grown-ups or little girls. At thirteen, she designed her own school uniform. She w
short dresses and long socks. After school, Mary went to Goldsmith’s College in London. She didn’t et
the College but she met her future husband, Alexander Plunkett-Green. Like Mary he wore unusual clott
such as purple velvet trousers and pajama jackets.

In 1955 Mary left college and worked for a hat-maker in London’s West End. But soon they ope
their own shop. It was called Bazaar and it was the first small shop for women in the King’s Roac
Chelsea. Mary designed all the clothes and made them on her old sewing machine.

The 1960s are often called the “Swinging Sixties”. During these years Mary’s designs become v
popular. Everyone loved her mini-skirts and colored tights. Thanks to Mary, London became the fash
capital of the world.

Mary’s fashion shows differed a lot from what they had been before. Mary’s models didn’t wa
they danced to pop music.

Soon Mary’s clothes became popular in America too. At the age of 37, Mary had a son, Orlan
She says: “Becoming a mother was quite the most important thing that ever happened to me.”

In 1966, Mary was awarded the O.B.E. (a special medal given by the Queen). She went
Buckingham Palace in a mini-skirt to collect the medal.

Later on Mary started her own cosmetics company.

She designed smart black, white and silver packaging for it, with the Quant daisy symbol that is ¢
the same today.

Today, Mary’s business is worth 100 million pounds. She is still designing - not just clothes, but ¢
a perfume called “Havoc” and some other things.

She has now opened the Mary Quant Color Shop in London’s Carnaby Street.

1. After school, Mary went to London. There she ...

a) entered Goldsmith College b) wore unusual clothes, such as purple velvet trouser
c) met her future husband d) entered the University

2. In 1960s London became the fashion capital of the world because ...

a) Mary’s designs became very popular and everyone loved her clothes

b) Mary changed fashion shows greatly

c¢) of Mary’s business, which was worth 100 million pounds

d) there lived a lot of famous hat-makers

3. Mary is still designing ...

a) just clothes b) sunglasses, bathroom furnishing, wallpaper and perfumes



c) shoes d) packaging for cosmetics
4. The Quants’ symbol is ...

a) a daisy b) a mini-skirt

¢) a sewing machine d) an eagle

I1. Fill in the blanks. (8 points)

1) He wants the key. Please give it to . (HE)

2) Youare than me. (OLD)

3) Tom burnt his hand when he the dinner. (TO COOK)
4) Acinema is a place where films . (TO SHOW)

I11. Make sentences from the given words. (6 points)

1) Provide, a, generator, can, potable, electricity.
2) Are, taking, what, here, course, you, here?
3) Could, not, we, our, park, car.

IV. Read the text and complete the blanks with the following. (8 points)

a)does not have some gadget lying around in it

b)page on its website designed for recruiting volunteers
c)carry some piece of technology

d)on charge somewhere in the house

Online volunteering

Technology is everywhere. We see it any place we go and, in fact, almost all of us (1)

with us every time we leave the house. What | always forget, though, is just how useful and powe
technology can be when we want to help others.

There is not a single room in my house that (2) . Whenever | am at home, providing that |
not sleeping, I am almost always using at least one electronic device. If you walked into my living room
any given day, you would find that, first, | have the television on (along with the other related applianc
such as the DVD player or my current favourite games console). At the same time, even though mt
tasking is definitely not my strongpoint, | usually have my laptop resting on my knee, or | will be using
tablet or mobile phone. In the background, the technology that I am not using will most likely
(3) . Even when I’m not at home I am constantly using my phone, and at work o
cafés, | sit down and connect to the local wireless network on my laptop.

I must admit, though you have probably already guessed it, that | waste a lot of time on the computer :
the time | spend on it could be much better spent if | were to commit to a little online volunteering.

The technology we carry about everywhere can have a great power to do good for the world and to h
others and recently | discovered just how much online volunteering there is to do in the world. From us




your language skills to do translations, to developing and managing projects and helping with 1T wc
there is so much that so many people can do to help people in their own countries and across the world. -
United Nations, in fact, has a huge (4) :
This work can support the poor and help charities who otherwise would not have the funding to pay
staff. Many organisations only require you to work an hour a week — some even less. And the supj
provided by online volunteers can really help make a difference to those in need.

V. Problem solving (6 points).

After graduating university your friend decided to build a career as an automotive engineer. But now he
doesn't really enjoy the type of work he is doing. Would you advise him to take the opportunity to develo
his skills in another field or to succeed in chosen one? Give your reasons.
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